Thai Journal of Mathematics Special Issue (Annual Meeting in Mathematics, 2010) : 43–50



www.math.science.cmu.ac.th/thaijournal Online ISSN 1686-0209

On Generalized Stability of an n-Dimensional Quadratic Functional Equation

T. Eungrasamee, P. Udomkavanich and P. Nakmahachalasint

In this paper, we establish the general solution and investigate the generalized stability of an n-dimensional quadratic functional equation

$$\sum_{1 \le i < j \le n} \left(f(x_i + x_j) + f(x_i - x_j) \right) = 2(n-1) \sum_{i=1}^n f(x_i)$$

where n > 1 is an integer.

Keywords : Functional equation; Quadratic equation; Stability. **2000 Mathematics Subject Classification :** 39B52; 39B82.

1 Introduction

A number of functional equation problems were concerned about the stability of homomorphism asked by S. M. Ulam [4]: Given a group G_1 , a metric group G_2 with metric $d(\cdot, \cdot)$, and a positive real number ε , does there exist a positive real number δ such that if a mapping $f : G_1 \to G_2$ satisfies $d(f(xy), f(x) f(y)) \leq \delta$ for all $x, y \in G_1$, then a homomorphism $h: G_1 \to G_2$ exists with $d(f(x), h(x)) \leq \varepsilon$ for all $x \in G_1$?

D. H. Hyers [3] solved the problem in the case of approximately additive mappings under the assumption that G_1 and G_2 are Banach spaces. Later, T. Aoki [1] and Th. M. Rassias [5] generalized the result of Hyers in the following theorem.

Theorem 1.1. Let G_1 and G_2 be Banach spaces, let $\theta \in [0,\infty)$, and let $p \in [0,1)$. If a function $f : G_1 \to G_2$ satisfies

$$||f(x+y) - f(x) - f(y)|| \le \theta (||x||^p + ||y||^p)$$

Copyright \bigodot 2010 by the Mathematical Association of Thailand. All rights reserved.

for all $x, y \in G_1$, then there is a unique additive mapping $A : G_1 \to G_2$ such that

$$||f(x) - A(x)|| \le \frac{2\theta}{2 - 2^p} ||x||^p$$

for all $x \in G_1$. If, in addition, f(tx) is continuous in t for each fixed $x \in G_1$, then A is linear.

Due to the above theorem, the functional equation f(x + y) = f(x) + f(y) is said to have the Hyers-Ulam-Rassias stability property on (G_1, G_2) . Later, many Rassias-type theorems concerning about the stability of various functional equations have been studied.

In this paper, an n-dimensional quadratic functional equation

$$\sum_{1 \le i < j \le n} \left(f\left(x_i + x_j\right) + f\left(x_i - x_j\right) \right) = 2\left(n - 1\right) \sum_{i=1}^n f\left(x_i\right)$$
(1.1)

where n > 1 is an integer, as well as its stability will be studied.

2 Main Results

In this section, we will investigate the general solution and generalized stability of the functional equation (1.1).

2.1 General Solution

It is interesting to note that the functional equation (1.1) is equivalent to the quadratic functional equation

$$f(x+y) + f(x-y) = 2f(x) + 2f(y)$$
(2.1)

Thus, the solution of (1.1) can be stated as follows:

Theorem 2.1. Let X and Y be vector spaces. A mapping $f : X \to Y$ satisfies the functional equation (1.1) where n > 1, for all $x_1, \ldots, x_n \in X$, if and only if it satisfies the quadratic functional equation (2.1) for all $x, y \in X$.

Proof. (Necessity) Putting $x_1 = \ldots = x_n = 0$ in (1.1) yields

$$(n-1) nf(0) = 2 (n-1) nf(0).$$

On Generalized Stability of an n-Dimensional Quadratic Functional Equation 45

Since n > 1, we have

$$f(0) = 0. (2.2)$$

Then, setting $x_1 = x$, $x_2 = y$, and $x_3 = \ldots = x_n = 0$ in (1.1), we have

$$f(x+y) + f(x-y) + 2(n-2) f(x) + 2(n-2) f(y) + (n-2)(n-3) f(0)$$

= 2(n-1) (f(x) + f(y) + (n-2)f(0)).

Using the equation (2.2) ensures the validity of (2.1).

(Sufficiency) Assume (2.1) holds. Then,

$$\sum_{1 \le i < j \le n} \left(f\left(x_i + x_j\right) + f\left(x_i - x_j\right) \right) = \sum_{1 \le i < j \le n} \left(2f\left(x_i\right) + 2f\left(x_j\right) \right)$$
$$= 2\left(n-1\right) \sum_{i=1}^n f\left(x_i\right).$$

This completes the proof.

2.2 Generalized Stability of the Equation

Throughout this section X and Y will be a real normed vector space and a real Banach space, respectively. Given a function $f: X \to Y$, we set

$$Df(x_1, x_2, \dots, x_n) := \sum_{1 \le i < j \le n} \left(f(x_i + x_j) + f(x_i - x_j) \right) - 2(n-1) \sum_{i=1}^n f(x_i)$$

for all $x_1, \ldots, x_n \in X$.

Theorem 2.2. Let $\phi: X^n \to [0,\infty)$ be a function such that

$$\begin{cases} \sum_{i=0}^{\infty} 4^{-i}\phi\left(2^{i}x, 2^{i}x, 0, \dots, 0\right) & \text{converges for all } x \in X, \text{ and} \\ \lim_{m \to \infty} 4^{-m}\phi\left(2^{m}x_{1}, 2^{m}x_{2}, \dots, 2^{m}x_{n}\right) &= 0 & \text{for all } x_{1}, \dots, x_{n} \in X, \end{cases}$$
(2.3)

or

$$\begin{cases} \sum_{i=0}^{\infty} 4^{i}\phi\left(2^{-i}x, 2^{-i}x, 0, \dots, 0\right) & converges for all x \in X, and \\ \lim_{m \to \infty} 4^{m}\phi\left(2^{-m}x_{1}, 2^{-m}x_{2}, \dots, 2^{-m}x_{n}\right) = 0 & for all x_{1}, \dots, x_{n} \in X. \end{cases}$$
(2.4)

If a function $f: X \to Y$ satisfies the inequality

$$\|Df(x_1, x_2, \dots, x_n)\| \le \phi(x_1, x_2, \dots, x_n)$$
(2.5)

for all $x_1, \ldots, x_n \in X$, and, in addition, f(0) = 0 if (2.4) holds, then there is a unique function $Q : X \to Y$ such that Q satisfies (1.1) and, for all $x \in X$,

$$\left\| f\left(x\right) + \frac{n^{2} - n - 3}{3} f\left(0\right) - Q\left(x\right) \right\| \leq \begin{cases} \frac{1}{4} \sum_{i=0}^{\infty} 4^{-i} \phi\left(2^{i}x, 2^{i}x, 0, \dots, 0\right) & if\left(2.3\right) holds\\ \frac{1}{4} \sum_{i=1}^{\infty} 4^{i} \phi\left(2^{-i}x, 2^{-i}x, 0, \dots, 0\right) & if\left(2.4\right) holds \end{cases}$$
(2.6)

The function Q is given by

$$Q(x) = \begin{cases} \lim_{m \to \infty} 4^{-m} f(2^m x) & if(2.3) \ holds \\ \lim_{m \to \infty} 4^m f(2^{-m} x) & if(2.4) \ holds \end{cases}$$
(2.7)

for all $x \in X$.

Proof. We will first prove the case when condition (2.3) holds. Let $g: X \to Y$ be the function defined by $g(x) := f(x) + \frac{n^2 - n - 3}{3}f(0)$ for all $x \in X$. Putting $x_1 = x_2 = x$ and $x_3 = \ldots = x_n = 0$ in (2.5) yields

$$\|g(2x) - 4g(x)\| = \|f(2x) - 4f(x) - (n^2 - n - 3) f(0)\| = \|Df(x, x, 0, \dots, 0)\| \le \phi(x, x, 0, \dots, 0)$$

for all $x \in X$. Dividing the above relation by 4 yields

$$\left\|\frac{g(2x)}{4} - g(x)\right\| \le \frac{1}{4}\phi(x, x, 0, \dots, 0).$$
(2.8)

Therefore,

$$\begin{aligned} \left\| \frac{g(2^{m}x)}{4^{m}} - g\left(x\right) \right\| &= \left\| \sum_{i=0}^{m-1} \left(\frac{g(2^{i+1}x)}{4^{i+1}} - \frac{g(2^{i}x)}{4^{i}} \right) \right\| \\ &\leq \sum_{i=0}^{m-1} \frac{1}{4^{i}} \left\| \frac{g(2 \cdot 2^{i}x)}{4} - g\left(2^{i}x\right) \right\| \\ &\leq \frac{1}{4} \sum_{i=0}^{m-1} 4^{-i} \phi\left(2^{i}x, 2^{i}x, 0, \dots, 0\right) \end{aligned}$$
(2.9)

for any positive integer m and for all $x \in X$.

On Generalized Stability of an n-Dimensional Quadratic Functional Equation 47

We will show that the sequence $\left\{\frac{g(2^m x)}{4^m}\right\}$ converges for all $x \in X$. For every positive integer l and m, we consider

$$\begin{split} \left\| \frac{g(2^{l+m}x)}{4^{l+m}} - \frac{g(2^{m}x)}{4^{m}} \right\| &= \frac{1}{4^{m}} \left\| \frac{g(2^{l} \cdot 2^{m}x)}{4^{l}} - g\left(2^{m}x\right) \right\| \\ &\leq \frac{1}{4^{m}} \sum_{i=0}^{l-1} 4^{-i} \frac{1}{4} \phi\left(2^{i} \cdot 2^{m}x, 2^{i} \cdot 2^{m}x, 0, \dots, 0\right) \\ &= \frac{1}{4} \sum_{i=0}^{l-1} 4^{-(i+m)} \phi\left(2^{i+m}x, 2^{i+m}x, 0, \dots, 0\right). \end{split}$$

By condition (2.3), the right-hand side approaches 0 when m tends to infinity. Thus, the sequence $\left\{\frac{g(2^m x)}{4^m}\right\}$ is a Cauchy sequence. Since a Banach space is complete, we can define

$$Q(x) := \lim_{m \to \infty} \frac{g(2^m x)}{4^m}$$

for all $x \in X$. Consequently, by passing to the limit in (2.9) when m goes to infinity, it follows that

$$||Q(x) - g(x)|| \le \frac{1}{4} \sum_{i=0}^{\infty} 4^{-i} \phi(2^{i}x, 2^{i}x, 0, \dots, 0)$$

for all $x \in X$. This inequality implies the validity of (2.6). Moreover, let x_1, \ldots, x_n be any points in X. We have

$$\begin{aligned} \|DQ(x_1,\dots,x_n)\| &= \lim_{m \to \infty} 4^{-m} \|Dg(2^m x_1,\dots,2^m x_n)\| \\ &\leq \lim_{m \to \infty} 4^{-m} \left(\|Df(2^m x_1,\dots,2^m x_n)\| + \left| \frac{n(n-1)(n^2 - n - 3)}{3} \right| \|f(0)\| \right) \\ &\leq \lim_{m \to \infty} 4^{-m} \phi(2^m x_1,\dots,2^m x_n). \end{aligned}$$

Using condition (2.3) the right-hand side tends to 0. Hence, Q satisfies (1.1) for all $x_1, \ldots, x_n \in X$ which implies that Q is a quadratic function. It should be noted that $Q(ax) = a^2 Q(x)$ for every positive integer a and for all $x \in X$. [2]

Now, we prove the uniqueness of Q. Let $Q' : X \to Y$ be another function satisfying (1.1) and (2.3). Therefore,

$$\begin{aligned} \|Q'(x) - Q(x)\| &= \frac{1}{4^m} \|Q'(2^m x) - Q(2^m x)\| \\ &\leq \frac{1}{4^m} \|Q'(2^m x) - g(2^m x)\| + \frac{1}{4^m} \|g(2^m x) - Q(2^m x)\| \\ &\leq 2 \cdot \frac{1}{4^m} \frac{1}{4} \sum_{i=0}^{\infty} 4^{-i} \phi \left(2^{i+m} x, 2^{i+m} x, 0, \dots, 0\right) \\ &\leq \frac{1}{2} \sum_{i=0}^{\infty} 4^{-(i+m)} \phi \left(2^{i+m} x, 2^{i+m} x, 0, \dots, 0\right) \end{aligned}$$

for all $x \in X$. By condition (2.3), the right-hand side goes to 0 as m tends to infinity, and it follows that Q'(x) = Q(x) for all $x \in X$. Hence, Q is unique.

For the case that condition (2.4) holds, we can state the proof in a similar manner as in the case which the condition (2.3) holds with the additional condition, f(0) = 0. Starting by replacing x with $\frac{x}{2}$ in (2.8) and multiplying by 4, we get

$$\left\|g\left(x\right) - 4g\left(\frac{x}{2}\right)\right\| \le \phi\left(\frac{x}{2}, \frac{x}{2}, 0, \dots, 0\right)$$

for all $x \in X$. This inequality can be extended by mathematical induction to

$$\begin{aligned} \left\| g\left(x\right) - 4^{m} g\left(\frac{x}{2^{m}}\right) \right\| &\leq \sum_{i=0}^{m-1} 4^{i} \phi\left(\frac{x}{2^{i+1}}, \frac{x}{2^{i+1}}, 0, \dots, 0\right) \\ &\leq \frac{1}{4} \sum_{i=1}^{m} 4^{i} \phi\left(2^{-i} x, 2^{-i} x, 0, \dots, 0\right) \end{aligned}$$

for any positive integer m and for all $x \in X$.

We can show that a sequence $\left\{4^m g\left(\frac{x}{2^m}\right)\right\}$ converges for all $x \in X$ and let

$$Q\left(x\right) := \lim_{m \to \infty} 4^m f\left(2^{-m}x\right)$$

for all $x \in X$. The rest of the proof is similar to the corresponding part of the proof of the previous case. Thus, it will be omitted.

Corollary 2.3. If a function $f: X \to Y$ satisfies the inequality

$$\|Df(x_1,\ldots,x_n)\| \le \varepsilon$$

for all $x_1, \ldots, x_n \in X$ and for some real number $\varepsilon > 0$, then there exists a unique function $Q: X \to Y$ such that Q satisfies (1.1) and

$$\left\|f\left(x\right) + \frac{n^2 - n - 3}{3}f\left(0\right) - Q\left(x\right)\right\| \le \frac{\varepsilon}{3}$$

for all $x \in X$.

Proof. We choose $\phi(x_1, \ldots, x_n) = \varepsilon$ for all $x_1, \ldots, x_n \in X$. Being in condition (2.3) in Theorem 2.2, it follows that

$$\left\| f\left(x\right) + \frac{n^2 - n - 3}{3} f\left(0\right) - Q\left(x\right) \right\| \le \frac{1}{4} \sum_{i=0}^{\infty} \frac{\varepsilon}{4^i} = \frac{\varepsilon}{3}$$

for all $x \in X$ as desired.

Corollary 2.4. Given positive real number ε and p with $p \neq 2$. If a function $f: X \to Y$ satisfies the inequality

$$\|Df(x_1,\ldots,x_n)\| \le \varepsilon \sum_{i=1}^n \|x_i\|^p$$

for all $x_1, \ldots, x_n \in X$, then there exists a unique function $Q: X \to Y$ such that Q satisfies (1.1) and

$$\left\| f(x) + \frac{n^2 - n - 3}{3} f(0) - Q(x) \right\| \le \frac{\varepsilon}{|2 - 2^{p-1}|} \|x\|^p$$

for all $x \in X$.

Proof. We choose $\phi(x_1, \ldots, x_n) = \varepsilon \sum_{i=1}^n ||x_i||^p$ for all $x_1, \ldots, x_n \in X$. If 0 , then condition (2.3) in Theorem 2.2 is fulfilled, and consequently

$$\left\| f(x) + \frac{n^2 - n - 3}{3} f(0) - Q(x) \right\| \le \frac{1}{4} \sum_{i=0}^{\infty} 4^{-i} \varepsilon \cdot 2 \left\| 2^i x \right\|^p = \frac{\varepsilon}{2 - 2^{p-1}} \left\| x \right\|^p$$

for all $x \in X$. If p > 2, the condition (2.4) in Theorem 2.2 is fulfilled, and consequently

$$\left\| f(x) + \frac{n^2 - n - 3}{3} f(0) - Q(x) \right\| \le \frac{1}{4} \sum_{i=1}^{\infty} 4^i \varepsilon \cdot 2 \left\| 2^{-i} x \right\|^p = \frac{\varepsilon}{2^{p-1} - 2} \left\| x \right\|^p$$

for all $x \in X$.

References

- T.Aoki, On the stability of the linear transformation in Banach spaces, J. Math. Soc. Jap., 2(1950), 64-66.
- [2] S. Czerwik, Functional Equations and Inequalities in Several Variables, World Scientific, Singapore, 2002.
- [3] D. H. Hyers, On the Stability of the Linear Functional Equations, Proc. Natl. Acad. Sci., 27(1941), 222-224.
- [4] S. M. Ulam, Problems in Modern Mathematics, Chapter 6, John Wiley & Sons, New York, NY, USA, 1964.

[5] Th. M. Rassias, On the Stability of the Linear Mapping in Banach Spaces, Proc. Amer. Math. Soc., 72(1978), 297-300.

Tippaporn Eungrasamee Department of Mathematics, Faculty of Science, Chulalongkorn University, Bangkok 10330, THAILAND. e-mail : keatip@yahoo.com

Patanee Udomkavanich Department of Mathematics, Faculty of Science, Chulalongkorn University, Bangkok 10330, THAILAND. e-mail : Pattanee.U@chula.ac.th

Paisan Nakmahachalasint Department of Mathematics, Faculty of Science, Chulalongkorn University, Bangkok 10330, THAILAND. e-mail : Paisan.N@chula.ac.th